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FThh 1 2024 5 1-6 A ZESHEERA

wEEwn DL e o o ot
Cwg/m' ug/m’ pg/m' ug/m' pg/m'
B = 36 71 26 3 195 09
EE == 44 84 33 7 199 11
B === 51 95 29 6 193 14
R =u 43 86 26 7 194 14
RN ==5 37 73 33 8 177 12
e s 53 92 23 8 194 13
B e 50 93 25 7 196 14
RN =z 49 98 28 6 204 12
| EEas 22 52 14 4 156 07
e == 26 62 24 10 172 10
R o 46 83 27 8 194 11
B =5 43 86 30 4 201 11
[ TS 46 85 23 6 199 11
DlES &F 46 89 36 12 195 14
DEN <= 32 71 26 15 162 15
DEN mz 44 91 36 14 195 13
EN <A 40 71 24 12 190 13
hEs = 39 85 27 8 199 16
DEN 34 83 26 15 166 10
hEN = 42 30 30 13 198 12
DEN == 47 90 19 8 180 14
DI 47 82 30 14 175 14
DEN = 50 99 26 9 204 15
EN =2 37 87 35 6 175 09
PEE s 36 72 31 9 153 12
CREAE B 39 79 33 17 154 20
TAEE o5 33 95 27 22 150 14
TREE S 22 47 23 14 140 10
DESEEN =7 32 63 20 10 141 07
WAEEY =rsy o7 67 25 9 153 10
s e r 18 31 12 : 104 04
=S czsr 24 91 17 8 142 10
| EE 53 20 11 152 11
TREE | x4z 28 47 13 4 114 08
BEEE s 10 37 10 10 118 0.4
DREE | s 26 73 9 8 152 08
B o 42 69 32 13 154 15
B <= 33 56 22 10 142 12
B = 43 75 28 13 157 16
B an 42 71 24 9 160 13



Cug/m' ug/m’ pg/m' ug/m’ pg/m’
B == 38 67 29 12 145 18
B A+ 30 51 18 12 131 15
N s 38 62 26 16 157 13
N =0 40 70 26 1 150 14
B =5 30 61 21 15 160 13
B 45 68 26 15 147 17
B == 35 53 25 10 164 11
S & 42 67 28 9 155 11
B = 32 60 19 12 160 14
[ EREE 36 65 27 17 160 14
e == 40 61 28 9 140 10
e = 43 65 25 10 150 14
R 3g 66 26 7 158 09
e = 33 49 23 10 156 12
e = 25 45 21 11 147 12
EHR AW 27 60 20 13 141 12
ER E 35 55 17 6 151 07
e as 24 47 14 6 116 08
B = 21 39 17 10 121 08
R rx 48 70 30 11 119 13
B s r 23 45 15 8 111 07
IREL ©F 32 52 18 9 99 11
DR =5 24 39 13 14 97 09
DR W 31 50 15 11 112 09
N <= 33 51 18 8 121 08
BT EE 26 36 13 8 114 08
[ s 34 45 20 7 120 10
R oo 35 49 24 11 116 11
B AT 35 52 22 10 122 10
R =- 21 29 11 6 94 06
D = 43 59 19 9 128 12
R vz 18 23 9 8 93 06
EEN s 34 50 33 7 136 11
A == 34 57 26 6 177 10
B =5 32 53 31 g 164 12
BT % 50 88 27 9 186 11
| il 39 65 30 9 181 11
L 35 56 28 8 162 10
B == 31 53 26 8 148 10
N =z 37 68 24 8 170 11
B := 44 68 25 7 169 11
B 36 60 19 6 159 10



wg/m’ ug/m’ wg/m’ pg/m’ ug/m’
B 39 67 31 8 180 11
R = 42 62 29 6 167 09
BB = 39 61 24 9 166 10
NI EE 45 75 23 5 176 10
R o 36 55 29 6 164 10
RE = 27 48 29 7 141 09
DR = 30 49 30 6 128 08
RN = 32 52 26 7 158 10
DR s 38 57 31 6 176 09
RN 3 35 53 25 7 164 10
N <« 34 55 31 4 150 10
DRE A 31 46 24 6 144 08
R & 22 36 22 6 130 08
RE &t 30 47 22 6 136 08
| G 24 37 18 4 128 08
NER aF 40 68 29 6 168 10
s =w 39 63 32 8 173 10
EE =2 46 74 21 7 187 09
R == A7 78 20 7 181 08
EEN oz 39 63 29 9 179 12
= =i 51 89 21 7 193 10
EE &= 39 69 29 8 160 11
R == 38 57 25 7 160 10
R =W 23 43 12 5 131 08
SR B 42 63 25 8 182 10
=R =@ 50 82 21 7 178 09
R = 50 88 18 6 187 10
NS ~= a1 61 19 5 167 09
s = 45 84 16 8 181 11
EE ot 35 53 20 5 157 10
e = 35 54 19 4 161 0.9
R A 23 35 17 4 130 08
EE =0 23 37 21 3 116 07
R =d 24 37 17 7 138 09
e = 22 33 19 9 109 14
R = 25 39 22 4 140 08
N = 28 45 22 5 130 08
EE =T 20 29 15 5 108 10
e = 19 28 15 6 105 08
EE - 27 35 17 6 126 11
NEEN == 34 54 25 7 129 10
NEEN === 22 35 16 8 114 08



Cug/m' ug/m’ pg/m' ug/m’ pg/m’
N =2 36 51 19 12 116 16
TE 34 50 27 11 141 11
Nl 3 30 53 22 13 123 12
EE == 26 38 18 13 131 08
DEEE = 22 35 16 9 107 13
NEEN == 28 45 20 12 121 10
E == 30 46 19 9 122 13
DNEE s 26 43 16 6 116 11
EE 26 45 18 11 128 10
RN 3 42 87 30 10 198 12
x| =5 32 63 28 8 146 13
S uE 45 84 32 14 204 12
B == 48 90 31 11 202 12
EN =z 39 76 27 11 204 11
L EEE 30 58 18 9 163 11
B =5 a1 76 27 11 188 12
B 5= 46 91 22 7 187 12
DR == 47 83 24 12 204 12
DR == 23 47 16 g 152 07
B == 34 67 29 10 162 14
B s 46 81 27 10 186 13
R = 47 98 26 11 200 12
RN ws= 48 99 25 9 196 12
B = 45 87 30 14 210 13
B 51 101 24 6 191 11
DR A 52 92 26 8 199 12
EE 54 97 24 5 185 10
e s 54 93 26 7 190 11
R L 56 99 23 8 183 10
aE =m 58 103 24 8 197 15
e e 57 99 27 10 198 13
e F5y 55 100 27 10 201 13
N = 56 100 24 9 196 13
NEE = 52 91 22 10 179 11
aE = 54 92 24 7 185 11
e =9 55 93 20 7 188 10
EE =i 46 81 26 10 170 12
aE =W 50 78 24 6 173 09
E == 56 92 20 9 191 11
NEE = a4 71 17 5 164 10
R =- 57 96 21 6 182 10
s HoE 51 90 20 7 177 08



Cug/m' ug/m’ pg/m' ug/m’ pg/m’
R = 41 57 30 8 170 12
N == 38 62 22 10 160 12
R = 34 55 18 8 144 11
e == 43 63 24 6 157 11
e == 52 82 22 10 163 12
DR = 40 65 22 9 155 13
RN 0 50 77 19 11 164 0.9
e == 46 69 20 9 166 13
- Bl 48 62 22 8 160 11
e =X 43 63 15 8 160 10
e =T 37 54 17 7 150 11
DR s 45 67 16 8 156 10
R =i 30 45 20 7 116 13
e ki 40 59 20 5 136 10
DR e 40 55 21 7 133 12
e = 42 54 21 6 137 12
L R 38 51 17 9 128 12
e #m 38 48 14 8 124 11
A = 34 52 21 7 148 11
s = 40 58 17 8 141 10
L Sl 34 48 13 3 121 09
EE =W 44 66 15 6 138 12
EEE o 29 38 15 8 109 11
DEEE o 35 46 14 9 116 12
N 29 42 12 8 107 10
 WE =R 39 56 18 8 118 14
E o= 30 40 11 7 110 08
B 22 38 29 6 138 09
B == 22 33 12 10 114 0.9
R = 17 33 18 5 132 07
R == 18 34 18 g 130 07
B U 23 37 14 6 139 09
| 22 38 29 7 145 09
B o 23 39 25 6 150 09
B = 21 33 11 7 127 08
| EEE 21 35 12 10 117 09
B == 23 37 25 7 142 09
B = 18 33 15 6 137 08
EEN = 19 29 16 g 109 08
R = 19 29 9 7 141 08
B = 19 33 14 g 110 09
B = 21 35 15 6 118 07




wg/m’ ug/m’ wg/m’ pg/m’ ug/m’
B == 22 37 21 6 132 10
EEN == 21 36 23 8 165 10
B . 20 33 22 5 133 08
ERN 27 40 16 8 144 10
R =n 29 49 20 9 142 10
R == 20 36 20 7 124 08
B = 24 38 19 6 116 10
EEN 25 38 16 8 116 11
L EES 28 36 15 8 104 11
EEN 23 42 20 8 102 11
EEN s 22 36 10 8 118 08
DEEN vz 20 37 17 6 98 10
EEN o 23 44 19 8 102 11
EEn = 28 44 17 9 108 11
L EE 26 42 16 3 103 10
NEEN == 30 48 17 13 122 10
R = 25 39 16 8 105 10
BEEN ot 24 34 16 8 105 10
EEN x= 28 42 14 7 114 13
EEN == 26 40 11 7 120 08
EE sn 16 29 8 7 113 06
EE N = 12 24 6 3 99 06
EE = 16 27 5 5 104 08
ERN =5 37 52 26 8 134 11
T 37 56 25 3 165 10
Ei s=: 45 60 21 6 151 08
L e 26 46 24 20 146 17
DB e 46 63 20 6 146 10
DE =m 38 57 24 3 147 10
ENT @ 39 62 26 7 149 10
EIN e 28 51 22 7 130 12
ER =7 28 49 20 10 136 09
E miT a1 52 21 8 132 09
EARY  Fuw 42 59 24 6 154 10
E =% 38 59 22 7 136 08
ET B 39 57 30 9 159 10
E == 44 61 23 9 149 09
E = 40 56 20 7 138 12
DEN Ao 31 54 34 8 120 13
EN R 35 50 20 7 143 08
Comi B 33 49 22 5 122 11
I #m 39 55 17 6 145 11



wg/m’ ug/m’ wg/m’ pg/m’ ug/m’
IR i 11 16 9 4 112 05
EN  E® 8 18 16 6 113 05
E =W 20 32 13 11 132 09
EN = 20 32 14 7 122 07
EE ek 21 31 12 8 135 10
EN &x 25 36 14 8 124 08
A =i 23 31 9 11 127 08
e =% 27 36 11 8 129 08
ER s 21 34 12 3 103 08
SN === 20 29 10 4 126 06
Y ==m 21 29 12 4 110 09
ER =3 16 22 7 4 110 07
EE =% 24 37 16 8 143 09
EE =5 21 36 12 7 144 09
B == 25 38 16 10 143 12
NEEN R 23 42 8 6 136 08
EE == 24 34 13 8 136 08
BEE 15 27 12 7 123 07
EE = 30 45 15 7 150 08
=R st 34 43 12 7 138 08
EE == 22 32 13 7 136 08
e <o 29 38 9 8 138 08
BEE 27 36 10 7 135 08
BEE = 36 48 17 8 150 10
N <= 20 31 10 6 135 07
EE =z 37 57 20 10 145 08
B = 23 33 13 7 114 06
EE &5 14 24 10 8 128 06
EE 11 21 13 6 153 07
EE == 10 25 9 6 151 08
EE = 9 14 10 7 139 07
EE 7 1 5 7 130 06
EE uE 11 26 8 6 148 05
EE  mE 17 35 9 6 148 13
EE = 7 16 7 9 174 06
NEEN =% 50 89 33 6 182 13
EEN =) 42 77 25 8 169 10
EEN =% 46 75 28 8 159 12
BEEN =i 54 % 32 6 183 12
EEN == a7 89 33 9 174 12
EEEN == 33 73 33 6 150 13
EEN oo 40 60 20 10 138 16




Cug/m' ug/m’ pg/m' ug/m’ pg/m’
DEEN 31 67 33 12 159 12
NEE == 32 52 15 10 124 10
EEN =z 32 61 21 g 144 09
ER = 41 83 32 14 157 17
R == 30 91 20 15 139 08
ER == 37 102 15 19 148 10
e == 31 75 20 32 140 12
ER =k 33 61 21 11 138 12
B == 45 101 18 5 138 12
R wm a1 114 15 6 142 06
EEN = 31 73 25 10 155 11
e = 29 89 16 9 135 08
- R 33 70 13 8 154 10
R == 34 70 17 9 140 11
B = 24 58 14 10 128 14
e k= 32 71 18 9 138 18
e == 25 54 19 10 128 09
EE = 34 63 29 15 145 15
L Bm | =% 32 64 18 14 145 11
EE s 20 46 10 14 146 07
e =3 25 54 5 10 135 10
D 24 51 16 12 138 07
e ==z 17 33 13 12 137 06
e = 6 11 9 13 156 07
e == 17 48 9 11 143 06
SR # 39 88 29 14 159 12
| EEEt 39 87 28 21 161 15
B == 37 88 23 12 157 11
- EE 27 64 17 5 143 11
SR +z 42 100 23 9 142 10
[ EESE 73 31 5 130 14
EE =itk 27 47 18 8 121 10
B == 44 120 31 B 136 26
i = 29 80 25 6 136 11
E == 50 84 28 7 130 20
E =rEn 26 58 16 10 125 11
| G 99 21 5 122 09
B s 41 115 25 6 130 16
| EECE T 116 11 7 138 12
EE =t 52 158 30 4 132 29
= 50 145 19 9 122 22
E &z 31 53 27 8 130 24



ik 14 35 6 5 79 05
FEhz= 9 23 15 5 106 05
HEF 52 85 21 9 127 18
hRE 54 89 20 8 127 20



